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All questions are compulsory.
Marks allotted to each question
are given in the margin.
In numerical questions, give all
the steps of calculation.
Give relevant answers to the

questions.
Give chemical equations

wherever nceessary.
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1. Four alternatives arc given in each part
of this question. Select the correct c)
alternative and write it in your answer-
book :
a) Standard oxidation electrode
potential of four metals A, B, C and
D are + 15 wvolt, ~-2-:0 volt,
+(-84 volt and -0-36 volt
respectively. The order of increasing d)
tendency  of reactivity of  these
metals is
ij A<B<C<D
ii) D<C<B<A
iiij A<C<D<B
- ivy B<C<D<A. 1
b) The correct formula for zero order
reaction among the following is
) t,,xa g
i)t 'IEI
iii) t) ;12—
iv) t”2 xa®. 1
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On recharging of Lead storage cell

ij PbOz dissolves
ii)  PbSOy4 deposits on lead chloride
iii) 'H,S0, regenerates

iv) Amount of acid decreases. 1
The hybridization of sulphur atom

in SO, molecule 1s

iy sp

ii) sp2

iii) sp’

iv) spd. 1

The oxidaton state of Co in

ICG(NH315CI]C12 15

ij +1
i) +2
i) +3
v). +4, ,
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a) Differentiate between Electrolytic
cell and Galvanic cell. 1
b) What are nano-materials ? Explain.
1
c) What is the difference between
lyophilic and lyophobic colloids ?
Give one example of each.
d) Draw labelled diagram of
reverberatory furnace.
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calcination
1

Differentiate between

and roasting.
What is the
bessemerisation in

copper ? Explain.
Write a chemical reaction in which

importance  of
extraction of
1

ozone acts as a reducing agent but

itself gets reduced too. 1
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On the basis of VBT, deduce the

structure and magnetic properties of

[ FEFﬁ]_:S complex 10n. -

frafafes @ft & LU.P.AC. TH
feffim -

i) [Cr(NH3)3Cla]

ii) Ka[Fe(C,04)3) 2
UF WyT wife Hi affear @ =
(50%) 10 fae #§ qoi gar ¥ ¥
sRufET 1 80% AT fEae @ 7 I
BT 2 2
et Tt SR & STEA 9T 3R
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4. a) Write IUPAC names of the following
compounds :

i) [Cr(NH;),Cl;)
ii) K;[Fe(C50,)4] 2
b} Half (50%]) of a reaction of first order
completes in 10 minutes. How much

time will be needed for 80%
completion of this reaction ? 2
c) What do you mcan by the average
velocity and instantancous velocity
of a chemical reactuon ? Explain in
brief the effect of temperature on the

velocity of a reaction. 2
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d) Explain the following with reasons :

1) Zinc reacts with dilute
hydrochloric acid but copper

does not. 1

ii) Hydrogen is liberated on anode

on electrolysis of molten

calcium hydride. 1

5 @) ﬁm%ﬁaﬁmﬁﬁﬁﬂwﬂm‘ﬁi“
ey § aTHE-geEgE O & IR W
.ﬁ Eﬂ'ﬁﬂ'ﬂ'\f‘,

MnO, + Fe*2 + HY = Fe™® + Mn*? + H,0

2
@) ﬁmmﬁmwm
i) ey HEH
i) feed gvmE ) 1+1
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S. a} Balance the following chemical
reaction in acidic medium by ion-
electron method :

Mn-Og +Fe*? + H* 5 Fe*d + Mn*2 4+ H,0

2
b) Write short notes on the following :
1)  Kohlrausch's law
ii) Tyndall effect. 1+1
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¢) Explain the following with reasons :

i)  Hydrogen chloride is a covalent

compound but its aqueous

solution becomes ionic.

iij) Electron affinity of inert gases

is zero. 1+1

d) Explain with examples

homogeneous and heterogencous

catalysis with examples. 2

6. q@%ﬁm%ﬁaﬁﬁmﬁqﬁﬁaﬁmﬁ
arEe fafy w1 v qEEEE EHET T
mifea fo % g AT 3

Frear
i & st fmior @i faRd aqEe!
ffiy @7 @ias U ST | 3
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6. Describe the industrial methog of
manufacture of nitric acid by Birklang
and Eyde process giving chemicg)

equations and labelled diagram. 3
OR

‘Describe with diagram the electrolytic
method of industrial manufacture of

chlorine. 3
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o0 At TR - Explain with reasons -
) faerg ° cut amga GTEH e Cu'? ij Cu * ijon is colourless while Cu *? 1on
. R, | i ,
RERUERIGRY is coloured in solution. 1

i) Mn*3 3TaF H T Mn*2 T Hw
o @ 1

iij Mn *2 jon is more stable than Mn*3

—_— L] = " b . . 1
iii)  HeT de e depel A A & ion

7. What happens when — iii) Transition elements form many
( Give chemical equations only ) complex compounds. ,

i) the mixture of any metallic chloride
and potassium dichromate is heated

with concentrated sulphuric acid ? 1 374(RK) - 2,65,000

i)  sulphur dioxide gas 1s passed 1n
acidic solution of potassium
dichromate 2 hitps://www upboardonline.com

i1l)  polassiam  permanganate  solution
https://www.upboardonline.com
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reacts with hydrogen sulphide 1in
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